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E1ZE%:

EEBH:
(1) HELEACOBREFBIELLEHRIEMTT A,
BZARCSN\R)CEENH-T- 47 2.9%
FlBAICEADLLHoIz 130 8.0%
AR BN 740 45.4%
EEZI0&EE 342 21.0%
CDIPHEFEDIREEZ T A o 369 22.7%
&t 1,628 100%
(2) CHIBPEICEELTIREUSNCZE L-BEIFLEMICEHLTENLWTT S,
SR E 550 33.8%
2BFRE LL_E ~ 38Rk i 578 35.5%
BRI Ll E ~ 2B RS R i 333 20.4%
1FFREIR 101 6.2%
[FEAER 67 4.1%
&t 1,629 100%
(3) FrFZDIBEICERMICERYIBATL,
EL{E5B RN 12 0.7%
ZOBHEN 33 2.0%
EbbEEE R 224 13.8%
Z585 687 42.2%
G ar) ) 673 41.3%
&t 1,629 100%
(4) CHBEOABOHEE(L. BRICE-TEYITHoT=,
EXGaplstol Al 14 0.9%
ZOBHEN 46 2.8%
EbnblEE AR 206 12.6%
Z585 677 41.6%
B<EIERS 686 42.1%
&t 1,629 100%
(5) CHEBEDHEME-IILREIIBY THo1=,
LSRN 21 1.3%
ZoBHEN 21 1.3%
EbnEEE AR 227 13.9%
285 677 41.6%
G ar) ) 683 41.9%
&t 1,629 100%
(6) CHEBEFRBIELT, BRITE->THLLG (BiEk) PYEDR AL ELNT=,
24{F5BhR 10 0.6%
ZoBHEN 22 1.4%
EbnEEEZHN 157 9.6%
285 620 38.1%
B<ZESES 820 50.3%
=il 1,629 100%
(7) CHOBEDPYEFFLIN\RIZHR-TEBEF T,
2LE5B DN 6 0.4%
5B HELN 15 0.9%
EBLERLE AR 163 10.0%
285 671 41.2%
H<ZESES 774 47.5%
=il 1,629 100%
(8) CHBEFIKEMINTEY. BEEFFIREZL TR EICEATIL,
2B hEN 8 0.5%
Z5BRHELN 14 0.9%
EBLERE AR 86 5.3%
385 583 35.8%
H<ZESES 938 57.6%
Eil 1,629 100%
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Q) COBEDELEFPENHKELRL, SESFLERICHHEME T -,

2B hEN 12 0.7%
Z5BRHELN 25 1.5%
EBLERLE AR 166 10.2%
385 604 37.1%
H<ZESES 822 50.5%
Ein 1,629 100.0%
(10) COBEDELEF (X, AEBELHLICHLTHETISH G LT

2B hEN 9 0.6%
Z5BRHELN 24 1.5%
EBLEREAZRLY 681 41.8%
385 242 14.9%
H<ZESES 673 41.3%
Ein 1,629 100.0%
(1) AFCNIBEFZELTRAEMISHEELT,

2B hREN 18 1.1%
Z5BRHEN 32 2.0%
EBLELEAHL 177 10.9%
385 611 37.5%
H<ZESES 791 48.6%
&t 1,629 100.0%
(12) [Grammar, PhoneticsZBR<EEENMER B R U EFIF} B3000F/4000F B DI X DR Y E(IRETRELZIT-.
2B hREN 81 22.0%
Z5BHELN 17 4.6%
EBELELEAH 69 18.7%
385 106 28.7%
G ae) ) 96 26.0%
&t 369 100.0%
(13) [ZUR B DA ]S-I DIBEEZITTEENNAEELS-,

2B hREN 79 21.8%
Z5BHAEN 28 7.7%
EBELELE ALY 62 17.1%
385 100 27.5%
G ae) ) 94 25.9%
&t 363 100.0%
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